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PRIMARY THREE MATHS CLASS WORK WEEK FIVE.

Lesson one
THEME : OUR HEALTH
Measures

MONEY
Background of money and the meaning.

Things that were used long ago e.g cowrie shells, rupees.
Types of money used in Uganda today coins and notes.
Features found on money
500 shilling coin
Head of a cow
Coat of arm
100 shilling coin
200 shilling coin
500 shilling coin
1000 shilling note

2000 shilling note
5000 shilling note
10,000 shilling note
20,000 shilling note
50,000 shilling note

Activity : 1 .Writing features found on money

2 . Naming currencies of different countrie
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Lesson : two

Conversion of units

Changing money from bigger denomination to smaller denomination

Examples
1. How many 100 shilling coins are in 500 shillings.
5
100)500
5x100 =500
000

There are 5 one hundred shilling coins in 500 /=.

2 .How much money do you get from 6 coins of 200/=
1coin = 200/=
6 coins= 200
X6
1200/=
3 . How many five hundred shilling coin can be got from 2000/=
2000 + 500
20+5
4

There are four 500 coins in 2000/=
Lesson : Three

Addition of money
Sh. 100 + sh 300

Sh 100 or 100 shillings
+sh 300 + 300 shillings
Sh 400 400 shillings
Word sums

One thousand shillings plus one thousand three hundred seventy
Sh 1000 or 1000 shillings

+ sh 1370 + 1370 shillings



Sh 2370 2370 shillings

Lesson : Four

Subtraction of money
Sh. 880 — sh. 490

Sh. 880 or 880 shillings

- Sh.490 - 490 shillings

Sh. 390 390 shillings
Word sums

How much change will one get from one thousand shillings if one spent three hundred seventy
shillings?
1000
- 370
_230
Activity : Subtracting Money

Lesson Five

Multiplication of money

One book costs sh. 100. How much money will Angella pay for two books?
1 book coast sh. 100
2 books will cost sh. 100
X 2
200
An orange costs shs. 500. How much money will 3 oranges cost?
1 orange costs shs 500
3 oranges will cost sh. 500 x 3
= Sh. 1500



